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] ] — A E5A 2 (H28.11.21)
AEMR | PERET | B/OV | AR KEE | AKEAEIET | ™5 i g [ BTEIEOE
§ |46 —#iE
Om 15.8 16.3 16.6 16.7 17.3 16.5 19.7 A 32
2m 15.8 16.2 16.6 16.7 16.9 16.5 209 A 44
5m 15.8 16.3 16.6 16.7 17.0 16.5 21.2 A 47
10m 15.8 16.3 16.6 16.7 - 16.5 214 A 49
B-1m 15.8 16.8 16.7 16.9 17.0 16.8 21.6 A48
&2 5 —
) ) R T4y A1 EIEHE (H28.11.21)
REM S | hE&RET | B/OY S KE | &&EpEm | 7 7 e BTEIEDE
% RBTY | par
Om 33.3 33.5 33.6 33.7 33.9 33.6 31.7 1.9
2m 33.3 33.5 33.6 33.7 33.8 33.6 33.0 0.6
5m 33.3 33.5 33.7 33.7 33.9 33.6 33.3 0.3
10m 334 33.5 33.7 33.7 - 33.6 33.5 0.1
B-1m 33.4 33.7 33.7 33.8 33.9 33.7 33.7 0.0
£3 BEREE (ng/ _
i ] 1B T 4 AiT[EIFAZE (H28.11.21)
RS | hERET | B/OY S KE | x&pam | 7 7 e BIEEDE
% RIBFH | LG T
Om 8.9 8.0 7.9 7.6 7.9 1.8 7.6 0.2
2m 8.5 79 7.8 7.5 7.8 1.7 7.0 0.7
5m 8.2 7.8 1.7 1.5 1.7 7.6 6.2 1.4
10m 8.0 7.5 7.6 1.5 - 1.5 6.0 15
B-1m 7.9 7.2 7.5 7.5 7.5 1.4 5.8 1.6
X B/ k- KEOFEHIE
=4 KER-FBHE (m)
| s | hFE [ B/0Y R KE | KeUIMEIRT
IKE 13.3 16.1 18.2 18.4 10.3
A E 2.8 3.5 3.5 3.5 4.0
BiiEI(11/21) 3.2 4.2 35 3.9 3.8
&5 TS50 (cells/ml)
SYXRY | TS5FOL| AL=T- |Drv(4BT« TR
2175 = SXEN | Z9LE | R
Om 7 0 0 7 6,100
FEARET [ 2m 3 0 0 6 4,900
5m 3 1 0 2 6,700
Om 4 0 0 2 4,100
B/2Y | 2m 5 0 0 0 3,700
5m 1 0 0 3 2,800
Om 6 0 0 8 800
PR VN 2m 8 0 0 5 1,800
5m 10 0 0 3 1,700
Om 7 0 0 5 1,500
KEE 2m 7 0 0 3 3,300
5m 2 0 0 2 1,900
Om 37 0 0 7 250
KE/NEIFT] 2m 5 0 0 0 650
5m 2 1 0 1 2,700




